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1. Evaluate I = ‘{:COt( z)dz | where C is the unit circle [2/=1"traversed
in a clockwise sense. (15%)

2. Let fix) = x*/2 for —-0<x <. Find the Fourier series of f{x) and

=1
evaluate the sum of the series Z;l‘z‘ (15%)

n=1

. | d? d
3. Find the general solution of the equation -&_x%’- +2 d—?c, +2y=38(x-3).

(20%)

4. Solve X =AX,where X7 =[x x|, X=%t )

1 3 | .
A= [ 3 7 ] , the superscript  *7” denotes transpose of a vector or matnx.
(15%)

5. LetF(x,y,z)=(-y+z,x+yz,xyz). By applying Stokes’ Theorem, compute the
integral of Curl F over the hemisphere x* +y* +2% =1,220,

with outwards normals.
(15%)

. . , 4 , 4
6. Find the general solution of y _-;y+;7y=x2+l , x>0,

| .
~ where Ed% , y"Ed%z .
(20%)






